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Chapter 3

Boyle’s Law Worksheet

Calculate the following.

Given that Boyle’s law states that P1V1 = P2V2, solve each of the following.

____________1. P1 = 21 Pa, V1 = ?, P2 = 73 Pa, V2 = 90 L

____________2. P1 = 45 Pa, V1 = ?, P2 = 12 Pa, V2 = 17 L

____________3. P1 = ? , V1 = 40 L, P2 = 121 Pa, V2 = 90 L

____________4. P1 = ?, V1 = 205 L,  P2 = 600 Pa, V2 = 1000 L

____________5. P1 = 24 Pa, V1 = 92 L, P2 = 88 Pa, V2 = ?

____________6. P1 = 200 Pa, V1 = 74 L, P2 = 17 Pa, V2 = ?

____________7. P1 = 68 Pa, V1 = 175 L, P2 = ?, V2 = 500 L

____________8. P1 = 158 Pa, V1 = 362 L, P2 = ?, V2 = 800 L

Calculate the pressure for each of the following. Note P = F/A

____________9.  F = 256.3 N, A = 21.3 m2

___________10.  F = 10,548 N, A = 96.2 m2

___________11.  F = 962 N, A = .37 m2

___________12.  F = 3092 N, A = 55.3 m2

___________13.  F = 20,924 N, A = 345 m2

___________14.  F = 33 N, A = .08 m2

___________15. F = 199 N, A = 400 m2
